
REAR MUDGUARD ADAPTABLE TO  HONDA CB1000R 08'-       
REF: 4692

INSTRUCTIONS TO ASSEMBLE 

 Material supplied to assemble the mudguard: 

NUM DESCRIPTION QTT
 1  1 
 1  1 
 2  1 
 2  1 
 2  1 
 3  1 
 4  3 
 5  3 
 3  3 

M6x25 DIN1001 black screw
Black arrowhead diam.14x12
M6x35 DIN1001 black screw
Black arrowhead diam.14x22
M6 DIN9021 black washer
Black iron fitting
Well nut
M6x20 DIN1001 black screw
M6 nut

Rely on premium motorcycle frames & body by Puig if you’re looking for quality and efficiency.

https://www.motorcycleid.com/puig/
https://www.motorcycleid.com/frame-body.html

